Uhemical Bonding Task Cards

Which atom would become
an ion with a 1+ charge?

. Beryllium

. Magnesium
. Chlorine

. Lithium
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Thank you for downloading my Chemical Bonding Task Card set! | hope
YOUu and your students enjoy using these task cards. | find them great
for reviewing a topic and for enrichment after the topic has been
Introduced.

Gopyright © January 20l Laura Ellsworth (TPT Splendid Science).
Al rights reserved by author.

This document i5 for your classroom use only.
This document may not be electronically distributed or posted +o a web site.

Background art by Rebecca B Designs:
https//www.teacherspayteacherscom/Store/Rebeccab-Designs




How t0 Use This Product

A ST W s o -
This packet includes 20 task cards, a student answer sheet, and a
teacher answer key.

Simply print and make copies of the task card pages (pg. 4-8 of this
document), and then cut apart. There are two student answer
sheets por page (pg. 9 of this document).

You migh’r Als0 consider Iamina’ring the task cards for o\uml?ili’ry.

Students can complete the task cards independently, in pairs, or
small groups.

| prefer 10 have my students work in small groups and simply place
the pre-cut task cards in a Ziploc baggjie for each group.
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MICAL BONDING <@>

A type of chemical bond that is

formed from the attraction of an atom that
has lost an electron for an atom that has
gained an electron is called a(n)

A.

Covalent bond
lonic bond
Metallic bond
Hydrogen bond

0

MICAL BONDING <@>

A type of chemical bond that
consists of positive ions in a sea of

electrons is a(n)

A.

OO w

Covalent bond
lonic bond
Metallic bond
Hydrogen bond

B.
C.
D

MICAL BONDING <@>

Which two elements have the
same number of valence
electrons?

A.

Carbon and Aluminum
Boron and Carbon
Nitrogen and Phosphorus
Oxygen and Fluorine

CH

EMICAL BONDING <@>

Magnesium is an alkaline- earth

metal.

What is the chemical

symbol for a magnesium ion?

A.

B.
C.
D

Mg -2
Mg +2
Mn -2

. Mn +2
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CHEMIGAL BONDING <,@.> | cHEMCAL BONDING <.@.>

In the Lewis-dot structure bEIOW : When atoms lose electrons durlng
how many electrons are needed for 5 chemical bonding, they become
a filled outermost energy level? :

A. Positively charged ions

. Negatively charged ions
. Neutral ions

. Chemically charged ions

A. O o0

O 0O
N o0 -
o0
el
°
O O
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CHEMICAL BONDING <@> CHEMICAL BONDING <,‘,>
HCl is an example of what The diagram below shows =
type of bond? : what type of chemical bond? :

A. lonic bond A. Covalent o o f
B. Covalent bond B. lonic . N E
C. Metallic bond C. Metallic N CE CI i E
D. Colloid bond : D. Hydrogen :




Which statement is true about the
picture below?

A. The bond is ionic because

electrons are being shared.
B. The bond is ionic because
electrons are being transferred.
C. The bond is covalent because 0

electrons are being shared.
D. The bond is covalent because
electrons are being transferred.

A
CHEMOAL BONDNG 5.
LA

0

MICAL BONDING <,‘,>

What family on the periodic
table is unreactive?

A.

o0 w

Halogens
Noble Gases
Alkali Metals

. Alkaline-Earth Metals

CHEMICAL BONDING ~ _Y
Vg

How many valence
electrons are shown?

OO0 w
N W 00

CH

EMICAL BONDING <@>

What do the following items
have in common: pizza, cup of water,

soup, puppy?
A.

B.
C.
D. They are all made of atoms

They are all solids
They are all liquids
They are all alive
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CHEMIGAL BONDING <"C§34> CHEMIGAL BONDING <.‘.>

L5 :
What is true about the circled elements? V. : This diagram shows a way Of
: representing... o B o
A. They are nonmetals. : o I' °

B. They are halogens. .- '
C. They will become [ HEABHE A. The number of electrons bromine has
negative ions. B. The number of valence electrons
D. They have one bromine has
valence electron. C. The number of protons bromine has
D. The number of neutrons bromine has

-------------------------------------------------------------------------------------------------------------------------------------------------------

A

CHEMICAL BONDING <,ﬁ@4,> : CHEMICAL BONDING <,‘,>
What kind of chemical bond is v Which element from period 3 s
shown in the picture below? : has the lowest atomic mass? 2
A. lonic g A. Sodium g
B. Metallic H : O: H : B. Scandium 2
C. Cova!ent e : C. Argon é
D. Colloid : D. Aluminum g




CHEMICAL BONDING <,@,> | cHEMIGAL BONDING <,‘,>
How many valence eIectrons .|| Which of the following is
do the Halogens have? held together by an ionic bond?

A1 A. CO,

B. 2 : B. H,0

C. 7 C. SO,

D. 17 D. CaCl,

CHEMIGAL BONDING <,‘,> | CHEMIGAL BONDING <,‘,>
Which atom would become V How many valence electrons

does the Chlorine atom need to galn
: to have a full outer energy level?

A. Beryllium A O

B. Magnesium ; B. 1
C. Chlorine C. 7
D. Lithium : D. 8

an ion with a 1+ charge?
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Name:

Period:

Chemical Bonding Task Cards

Directions: Use this sheet to fill out your answers to the

Name:

Period:

Chemical Bonding Task Cards

Directions: Use this sheet to fill out your answers to the

20 task cards.

1. 2. 3. 4,
5. 6. 7. 8.
9. 10. 11. 12.
13. 14. 15. 16.
17. 18. 19. 20.

20 task cards.

1. 2. 3. 4,
5. 6. 7. 8.
9. 10. 11. 12.
13. 14. 15. 16.
17. 18. 19. 20.




Chemical Bonding Task Cards (Multiple Choice)

1. 2. 3. 4,
B — lonic Bond C — Metallic Bond C — Nitrogen and B—Mg+2
Phosphorus
5. 6. 7. 8.
B-1 A — Positively charged | B — Covalent bond B - lonic
ions
9. 10. 11. 12.
C—The bond is B — Noble Gases C-3 D — They are all made
covalent because of atoms
electrons are being
shared
13. 14, 15. 16.
D - They have one B — The number of C— Covalent A —Sodium
valence electron valence electrons
bromine has
17. 18. 19. 20.
C-7 D — CaCl, D — Lithium B-1




